
SAP ABAP table T51AV_ROC {Off-cycle reasons not relevant for calculation of averages}

T51AV_ROC

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

RELRULE [CHAR (4)]

OCRSN [CHAR (4)]

T000

MANDT [CLNT (3)]
 T51AV_ROC-MANDT = T000-MANDT 

0..N

1

T500L

MOLGA [CHAR (2)]
 T51AV_ROC-MOLGA = T500L-MOLGA 

0..N

1
T51AV_R

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

RELRULE [CHAR (4)]

 T51AV_ROC-RELRULE = T51AV_R-RELRULE 

0..N

1

T52OCR

MOLGA [CHAR (2)]

OCRSN [CHAR (4)]

 T51AV_ROC-OCRSN = T52OCR-OCRSN 

0..N

1


